



姓名: _____

日期: _____ 分数: _____

$$(-8)^2 + (-5) =$$

$$(-4)^3 + 8 =$$

$$5^2 - 2 =$$

$$3^2 + 3 =$$

$$9^0 - (-6) =$$

$$(-7) + (-8) =$$

$$10^2 + 6 =$$

$$(-4)^3 + (-7) =$$

$$(-7)^3 - 2 =$$

$$5^2 - (-5) =$$

$$4 + 3 =$$

$$(-7)^2 - 8 =$$

$$10^2 - 8 =$$

$$(-2)^3 - (-2) =$$

$$(-1)^2 + (-5) =$$

$$(-1)^3 + 7 =$$

$$(-4)^3 + 8 =$$

$$(-5)^3 - (-3) =$$

$$2^3 - 1 =$$

$$(-10)^2 + (-3) =$$



姓名: _____

日期: _____ 分数: _____

$$(-8)^2 + (-5) = 59$$

$$(-4)^3 + 8 = (-56)$$

$$5^2 - 2 = 23$$

$$3^2 + 3 = 12$$

$$9^0 - (-6) = 7$$

$$(-7) + (-8) = (-15)$$

$$10^2 + 6 = 106$$

$$(-4)^3 + (-7) = (-71)$$

$$(-7)^3 - 2 = (-345)$$

$$5^2 - (-5) = 30$$

$$4 + 3 = 7$$

$$(-7)^2 - 8 = 41$$

$$10^2 - 8 = 92$$

$$(-2)^3 - (-2) = (-6)$$

$$(-1)^2 + (-5) = (-4)$$

$$(-1)^3 + 7 = 6$$

$$(-4)^3 + 8 = (-56)$$

$$(-5)^3 - (-3) = (-122)$$

$$2^3 - 1 = 7$$

$$(-10)^2 + (-3) = 97$$